o000 oobooooooooa
ooooooo

goboboooobbbooooboboooobbboooobbobooo

OO0 00 (DoO0o0oooo PD)

00000 Matthias Hieber 00O O00D0O0O00OO0DODO DO OO Abdelaziz Rhandi O O
O000000000000000 1joooood

000 R*(n>2)00 00000 Navier-Stokes 00 0000000000000
ood

(NS) { U — AU + (U,V)U + VP =0, V-U=F in R"x(0,7),

Uli=o = Uy in R™.
000 U= (Ula,t),...,Unz,¢))0P = P(z,4) 00000000000000000
000000000000 U= (Uz),...,U(x)) 000 F = (FY(x,1),..., F*(z,1)
0oodo0oodooooooooov-Uy=00 V- F=00O0OU0O00ooooo
00 FOODODDODOODDOOOOOOO U, 0 LR O00O0O0O0O0OOOOOOOO
O000oo0o0o0ooooo|U),boco00oo0o00ooo0o0oooooooooooo
Jdooooooooor/,Po00d p>n0dd L*0000000O000O00ODO0O0OOO0O0O
O00ooooooooooooooooooooooooooobooooooogn

00000000000Bugers 000000000000000000000000
00000000000000000000000000000O0 [200000000
Us(z) :=uo(z) — f(x) 00 0000000000000000000O0000OOCODO
up € L2(R") 000 f O globally Lipschitz 0000 0000000000000000

)
(H1) V-f=0,
(H2) Afell,
(H3) 311 : scalar function s.t.  (f, V)f = VIL

(U,P)0 (NS)DODOOODO0OOOu:=U+f0P:=P+0I100000000
{ uy — Au— (f, VIu+ (u, V)u— (u,V)f + VP = F, V-u=0 in R" x (0,7),
Uly=0 = ug in R”.
000 F=F-Af000O
000000000000000000 AQ Au:=—Au—(f,V)u+(u,V)f 00000
0000 D(A) :={ueW>»nLE(f,Vuec P} 000000000000 pe (1,0)
D00O0-ADO LE(R") O (Cp)-0000000000000000000 (3]0 [40
00000000000 {4}, 0000000000000 P:= (6; + RiR))i<ij<n
0000 R, :=0;(—A)""20 000 Duhamel 0000000000

(INT) u(t) = uq(t) _/0 e~ AP (u(s), Vu(s)ds + 2/0 e~ DAP(u(s), V) fds
49



50 00 00 (DooooUooooouooooon)

0000000 w(t) = e+ [je94F(s)ds DODDODODO(INT) 000 mild
solution 00000000

00 1. n>20p € [n,00)0q € [p,oo] OO0 Ouy € LA(R™) DO OO f O globally
Lipschitz 0 00000 (H1),(H2),(H3) 0000000 OF € C([0,00); LZ(R™) OO
000000 00 Ty >00 mild solutionu(t) O te€ (0,7,) OOODOO0DOO0DDOOOOO
gogd

[t #3G7u(t)] € C(0,To); LL(R™),

[t — 12672 vu(t)] € O([0, Th); LY(R™)).
000 fl#)=M20000 MO axnO0000000[B000000000000
goooon [5]DDDDDDDDDDDDDD

googobogobuoboobbooboboooboooobobuoobobbad
OO00O00000o0oood0 n>101<p<qg<oo 000000 C>00 welR O
oogd

kE_n

IV*e A flly < Cett™ 22670 £,
oodd ¢t>00 kE=0,10 fELp(R”)DDDDDDDDD p<qgUOQln
575G Vre A, — 0 as t—0
goooono

0000000000000 000000000000000 p=nbO006€(0,1)
000000,;>20000000 {u} 0O

Wy (t) = (t) — /0 e AR (s (5), V) (s)ds + 2 /0 e =IAB(y,(s), V) fds

0000000000000000000 7, >0000007 |[u;()|las O 2]V, (t)]||
O+<Ty0 j>10000000000000000000000000000({[t~
B Du (0]} 0 C(0,1);28) 000D {8 — 17360V (0)]}1 O C((0, Ti); L9)
D000000000000000000000 mild solution 00000000 Gronwall
O0o000oood

gobooo

]
] Y. Giga and K. Yamada, Bol. Soc. Paran. Mat., 20 (2002), 29-49.

| G. Metafune, D. Pallara and V. Vespri, Houston J. Math., 31 (2005), 605-620.
] A. Lunardi and G. Metafune, Differential Integral Equations, 17 (2004), 73-97.
| M. Hieber and O. Sawada, Arch. Ration. Mech. Anal., 175 (2005), 269-285.



